

DELIVERY DUE DATE: 2 7

AUG 2024

Procurement Unit

Tel No.: 045-606-8142/606-8157

Supplier: MT. ZION SCIENTIFIC INC.

42 Sampaguita Avenue Mapayapa Village II. 42 Sampaguita Ave.

Quezon City, Metro Manila

Type of Business: Merchandising TIN No.: 247-084-130-000 VAT Reg.

Tel. No.: (02) 8931-5122/ (02) 8931-9505

PR No.:

2023-12-487

PO No .:

2024-361

Date:

5/24/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY		Delivery Term:		60 calendar days	
Date of Delivery:			Payment	Term:	<u>n/30</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
1	pack (s)	ANTIMICROBIAL SUSCEPTIBILITY DISKS, ERYTHROMYCIN,	1	9,252.00	9,252.00
		Antibiotic Code: E Quantity: 50 Disks/Cartridge Packaging: 5			
		Cartridges/Pk., Brand: BD	l ,		J
3	pack (s)	ANTIMICROBIAL SUSCEPTIBILITY DISKS, STREPTOMYCIN,	1	9,252.00	9,252.00
		Brand: BD			~
12	bottle (s)	CHEMICAL REAGENT, Anhydrous Calcium Chloride,	2	1,600.00	3,200.00
		500grams, reagent grade with MSDS, AR 2W Brand: LABSCAN			
18	bottle (s)	CHEMICAL REAGENT, Biuret Reagent, 1liter, Brand: Local	1	4,700.00	4,700.00
22	bottle (s)	CHEMICAL REAGENT, Carbon Tetrachloride, 1liter, reagent	2	2,000.00	4,000.00
		grade with MSDS, AR REPACK Brand: MERCK		_,	1,000.00
23	lot (s)	CHEMICAL REAGENT, CHEMICAL, BOD Analysis for	1	35,000.00	35,000.00
		wastewater. 1 btl of Potassium dihydrogen phosphate			
		monobasic (KH2PO4), analytical grade, (500g); 1 btl of			
		Disodium hydrogen phosphate heptahydrate, Na2HPO4.7H2O,			
		500 grams, analytical grade; 1 btl of Ferric chloride hexahydrate,	1		
		FeCl3.6H2O, 500 grams, analytical grade; 1 btl Sodium			
		hydroxide, NaOH, 1 Kg, analytical grade; 1 can of BOD Seed			
		Inoculum, 50 capsules/can. A blend of specialized microbial			
		cultures in an easy-to-use capsule. Designed to provide a			
		uniform standard for the degradation of both industrial and			
		municipal waste in BOD5 analyses. Package of 50 capsules or	1		
		less (preferably 5-10 capsules only). International Laboratory			
		Supply (InterLab), LTD			
		*Consitent seed source: same bacteria, same type of bacteria,			
		same amount of bacteria blend			
		sub-total:			65,404.00

Warranty shall be for a perod minimum of three (3) months for expendable supplies, or a minimum period of one (1) year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percentfor every day of delay shall be imposed.

Conforme:

RECEIVED 21 JUN 2024

MT. ZION SCIENTIFIC INC.

(Signature over printed name & date)

Bank Account Name:

MT. 210N SCIENTIFIC INC

Bank Account Number:

Bank Name:

Bank Address:

COMMONWEAUTH

Funds Available:

JASPER A YAUDER, CPA

Budget Officer

Form No.: TSU-PRO-SF 04 Revision No. 03

Very truly yours,

D E. VELASCO

ALOBS No. : 62- 206441 - 2014-06-1851

Amount: 332 449 W

Effectivity Date : August 24, 2020 Page 1 of 5

Procurement Unit

PURCHASE ORDER

DELIVERY DUE DATE: 2 7 AUG 2024

Tel No.: 045-606-8142/606-8157

Supplier: MT. ZION SCIENTIFIC INC.

42 Sampaguita Avenue Mapayapa Village II, 42 Sampaguita Ave, Quezon

City, Metro Manila

Type of Business: Merchandising TIN No.: 247-084-130-000 VAT Reg.

Tel. No.: (02) 8931-5122/(02) 8931-9505

PR No.:

2023-12-487

PO No.:

2024-361

Date:

5/24/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY		Delivery Term:		60 calendar days	
Date of Delivery:		Payment Term:		n/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			65,404.00
		*Known bacterial content is free from pathogens			
		*Save and convenient pre-measured dry product in easy-to-use)
		capsules			
28	bottle (s)	*Two years shelf life CHEMICAL REAGENT, Diethyl Ether, 2.5L, reagent grade with	,	2 500 00	7 00000
20	bottle (s)	MSDS, Brand: LABSCAN	2	3,500.00	7,000.00
29	bottle (s)	CHEMICAL REAGENT, Hydrochloric Acid, 500ml, Brand:	1	3,000.00	3,000.00
		LABSCAN	1	3,000.00	3,000.00
31	bottle (s)	HYDROCHLORIC ACID 37% - 1 Liter per bottle, with MSDS and	2	1,500.00	3,000.00
		3-5 years expiry, ACS Grade, Brand: LABSCAN		_,	0,000.00
33	bottle (s)	SULFURIC ACID - 1L, with MSDS and 3-5 years expiry, Brand:	2	1,965.00	3,930.00
		LABSCAN			
34	bottle (s)	SULFURIC ACID 93%-98 % - 1L, Physical State: Liquid;	3	1,500.00	4,500.00
1		Appearance: Clear, Colorless to brown; Odor: Odorless; pH: 0.3			
		(1N); Melting Point/Range: 10 °C / 50 °F; Boiling Point/Range:			
		290 - 338 °C / 554 - 640.4 °F; Evaporation Rate: Slower than			
-		ether; Flammability: (solid,gas) Not applicable; Vapor Pressure: <0.001 mmHg @ 20 °C; Vapor Density: 3.38 (Air = 1.0); Specific			
1		Gravity: 1.84; Solubility: Soluble in water; Decomposition			
		Temperature: 340°C; Molecular Formula: H2SO4; Molecular			
ì		Weight: 98.08; Provide SDS of the chemical and certificate of	1		
1		analysis. Shelf life should be at least 3 years or longer from date			
		of purchase. After sales provision on certificate of extension of			
		expiry date, Brand: LABSCAN			
35	bottle (s)	TOLUENE - REAGENTS - 500g - with MSDS and 3-5 years expiry, Brand: LABSCAN	2	4,000.00	8,000.00
		sub-total:			94,834.00

Warranty shall be for a perod minimum of three (3) months for expendable supplies, or a minimum period of one (1) year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percentfor every day of delay shall be imposed.

Conforme:

ALANS. AGUILANA President / CEO

RECEIVED 21 JUN 2024

MT. ZION SCIENTIFIC INC.

(Signature over printed name & date)

Bank Account Name:

MT. ZIDN SCIENTIFIC

Bank Account Number: 0621-198-18

Bank Name:

Bank Address:

LANDBANK

PHILIPPINES

COMMON WEAUH

Funds Available:

JASPER A. YAUDER, CPA

Budget Officer

Form No.: TSU-PRO-SF 09 Revision No. 03

Very truly yours,

E. VELASCO

ident d Official

ALOBS No.: 02-786441-1874 84-1851

Amount: 332. 449. J

Effectivity Date : August 24, 2020 | Page 2 of 5



DELIVERY DUE DATE: 2 7 AUG 2024

Tel No.: 045-606-8142/606-8157

Supplier: MT. ZION SCIENTIFIC INC.

42 Sampaguita Avenue Mapayapa Village II, 42 Sampaguita Ave, Address:

Quezon City, Metro Manila

Merchandising

TIN No.: 247-084-130-000 VAT Reg.

(02) 8931-5122/ (02) 8931-9505 Tel. No.:

PR No .:

2023-12-487

PO No .:

2024-361

Date: Mode of Procurement: 5/24/2024 Public Bidding

Gentlemen:

Type of Business:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: TARLAC STATE UNIVERSITY		Delivery Term:		60 calendar days	
Date of Delivery:		Payment	Term:	<u>n/30</u>	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			94,834.00
36	bottle (s)	CHEMICAL REAGENT, EC Medium, 500grams, EC BROTH, Brand: TITAN MEDIA 417	1	9,800.00	9,800.00
38	bottle (s)	CHEMICAL REAGENT, Ethanol Anhydrous, Denatured, 250ml, Glass, TECHNICAL DENATURED	16	480.00	7,680.00
39	bottle (s)	CHEMICAL REAGENT, Ethanol, 90%,1liter, reagent grade with MSDS, LOCAL	20	1,000.00	20,000.00
40	bottle (s)	CHEMICAL REAGENT, Ethanol, 95%, 4-liters, reagent grade with MSDS 3-5yrs expiry, Brand: CHEMSUPPLY	7	2,000.00	14,000.00
44	bottle (s)	CHEMICAL REAGENT, Fuschin Acid, 25gram, reagent grade with MSDS, Brand: LOBACHEMIE	2	3,000.00	6,000.00
54	bottle (s)	CHEMICAL REAGENT, Methylene Blue,250ml, Brand: LOCALLY PREPARED	5	725.00	3,625.00
56	bottle (s)	CHEMICAL REAGENT, Millon's Reagent, 500ml, Brand: LOCALLY PREPARED	1	6,000.00	6,000.00
61	bottle (s)	CHEMICAL REAGENT, N-Butanol, 1liter, reagent grade with MSDS, Brand: LABSCAN	1	2,000.00	2,000.00
62	bottle (s)	CHEMICAL REAGENT, Normal-Pentane, 1-liter reagent grade with MSDS, Brand: LABSCAN	2	5,000.00	10,000.00
71	bottle (s)	CHEMICAL REAGENT, pH 10 calibration buffer solution with MSDS, 500mL, Brand: AJAX	11	2,000.00	22,000.00
72	bottle (s)	CHEMICAL REAGENT, pH 4.01 calibration buffer solution with MSDS, 500mL, Brand: AJAX	11	1,500.00	16,500.00
88	bottle (s)	CHEMICAL REAGENT, Salicylic Acid, 100g, reagent grade with MSDS, Brand: LOBACHEMIE	2	4,000.00	8,000.00
92	bottle (s)	CHEMICAL REAGENT, Simmons Citrate Agar, 500grams, Brand: TITAN MEDIA 348	1	8,900.00	8,900.00
		sub-total:			229,339.00

Warranty shall be for a perod minimum of three (3) months for expendable supplies, or a minimum period of one (1) year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percentfor every day of delay shall be imposed.

MT. ZION SCIENTIFIC INC. RECEIVED 21 JUN 2024

(Signature over printed name & date)

Bank Account Name:

MT. 2100 SCHENTIFIC IPC.

Bank Account Number:

6621-1198

Bank Name: Bank Address:

PHUPPINES LAND BANK

COMMONWEARTH BRANCH

Funds Available:

JASPER A. YAUDER, CPA Budget Officer

Form No.: TSU-PRO-SF 09 Revision No. 03

ALOBS No.: 02-702441-1129-02-1851

Amount: 332 . 449 . N

DR. ARNOLD E. VELASCO

Effectivity Date : August 24, 2020 Page 3 of 5

Very truly yours,



DELIVERY DUE DATE: 2 7 AUG 2024

Tel No.: 045-606-8142/606-8157

Supplier: MT. ZION SCIENTIFIC INC.

42 Sampaguita Avenue Mapayapa Village II, 42 Sampaguita Ave,

Address: Quezon City, Metro Manila

Type of Business: Merchandising

TIN No.: 247-084-130-000 VAT Reg. Tel. No.: (02) 8931-5122/ (02) 8931-9505 PR No .:

2023-12-487

PO No.:

2024-361

Date:

5/24/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:		TARLAC STATE UNIVERSITY	Delivery Term: Payment Term:		60 calendar days n/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			229,339.00
94	bottle (s)	CHEMICAL REAGENT, Sodium Chloride, 500g, reagent	3	1,000.00	3,000.00
		grade with MSDS, Brand: LOBACHEMIE	1		}
95	bottle (s)	CHEMICAL REAGENT, Sodium Hydroxide, 500grams,	1	3,000.00	3,000.00
		PELLETS, Brand: QUALIKEMS			
96	bottle (s)	CHEMICAL REAGENT, Sodium Hydroxide, NaOH, 1 kg,	1	3,000.00	3,000.00
		Analytical grade. Provide MSDS of the chemical. shelf life			
		should be at least 3 year or longer from date of purchase.			
00	11	For DO and BOD Analysis, PELLETS, Brand: QUALIKEMS			1
98	bottle (s)	CHEMICAL REAGENT, Starch Solution, 500ml 3-5 yrs	4	7,800.00	31,200.00
101	1	expiry, STARCH SOLUBLE, Brand: AJAX			
121	bottle (s)	PHENOLPHTHALEIN, bottle of 100g - with MSDS and 3-5	5	3,000.00	15,000.00
407	1 ()	years expiry, Brand: LOBACHEMIE			
137	bottle (s)	FEHLING SOLUTION A - 1 Liter per bottle; Component:	1	2,800.00	2,800.00
		Copper(II) sulfate, pentahydrate Water; with SDS, Brand:			
138	hattle (a)	LOCALLY PREPARED			
138	bottle (s)	FEHLING SOLUTION B - 1 Liter per bottle; Component:	1	2,800.00	2,800.00
		Water, Potassium sodium tartrate, Sodium hydroxide; with SDS and 3-5 years expiry, Brand: LOCALLY PREPARED			
139	bottle (s)				
139	Dottie (S)	GLACIAL ACETIC ACID - 2.5L, with MSDS and 3-5 years expiry, Brand: LABSCAN	2	3,400.00	6,800.00
142	bottle (s)	IODINE CRYSTAL, 250 grams, with MSDS and 3-5 years		0.000.00	
1.12	Dottic (3)	expiry, Brand: AJAX	1	8,000.00	8,000.00
145	bottle (s)	METHYLENE BLUE 1% SATURATED AQUEOUS	1	1 500 00	1.500.00
7-5-2	(0)	SOLUTION w/v - 120ml per bottle; Density: 1.0050 g/cm ³ ,	1	1,500.00	1,500.00
		Brand: LOCALLY PREPARED			}
		sub-total:			206 420 00
					306,439.00

Warranty shall be for a perod minimum of three (3) months for expendable supplies, or a minimum period of one (1) year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percentfor every day of delay shall be imposed.

Conforme:

RECEIVED 21 JUN 2024

MT. ZION SCIENTIFIC INC. (Signature over printed name & date)

Bank Account Name:

Mr. 210N SCIENTIFIC INC

Bank Account Number:

198-18

COMMON WEALTH

LANDBANK OF THE

Bank Address: Funds Available:

Bank Name:

ALOBS No. : 02 20441 704-16-1957 Amount: 532 449

D E. VELASCO

Effectivity Date : August 24, 2020 Page 4 of 5

Very truly yours,

Budget Officer

JASPER A. YAUDER, CPA

Form No.: TSU-PRO-SF 09 Revision No. 03



AUG 2024 DELIVERY DUE DATE: 2

Tel No.: 045-606-8142/606-8157

PR No .:

2023-12-487

Address:

Supplier: MT. ZION SCIENTIFIC INC.

PO No.:

2024-361

Metro Manila

5/24/2024

Type of Business:

Merchandising

Date:

TIN No.: Tel. No.:

247-084-130-000 VAT Reg. (02) 8931-5122/ (02) 8931-9505 Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

42 Sampaguita Avenue Mapayapa Village II, 42 Sampaguita Ave. Quezon City.

	ace of Delivery: TARLAC STATE UNIVERSITY ate of Delivery:		Delivery Term:		60 calendar days
		Payment Term:		n/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
152	bottle (s)	Balance Forwarded: SODIUM CHLORIDE - technical grade; 500g per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date., Brand:	2	1,000.00	306,439.00 2,000.00
153	bottle (s)	LOBACHEMIE SODIUM HYDROXIDE - pellets; technical grade; 500g per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date., PELLETS, Brand: QUALIKEMS	2	1,980.00	3,960.00
154	bottle (s)	SODIUM THIOSULFATE, 500g with MSDS, 3-5 years expiry, Brand: LOBACHEMIE, 45-75 working days	3	4,350.00	13,050.00
157	bottle (s)	TRICHLOROCETIC ACID - 100g - with MSDS and 3-5 years expiry, Brand: LABSCAN ***********************************	2	3,500.00	7,000.00 332,449.00

(Total Amount in Words) Three Hundred Thirty-Two Thousand Four Hundred Forty-Nine Pesos Only

Warranty shall be for a perod minimum of three (3) months for expendable supplies, or a minimum period of one (1) year for nonexpendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percentfor every day of delay shall be imposed.

Conforme:

President / CEO RECEIVED 21 JUN 2024

MT. ZION SCIENTIFIC INC. (Signature over printed name & date)

Mr. ZION SCIENTIFIC INC.

Bank Account Name:

Bank Account Number:

Bank Name: Bank Address:

LANDBANK PHUPPINES OF

COMMONWEALTH BRAN

Funds Available:

JASPERA. YAUDER, CPA

Amount: 932, 449 - W Effectivity Date : August 24, 2020 Page 5 of 5

Very truly yours,

LD E. VELASCO

ALOBS No. : 02 - Wagat 2024 - 06-18-1

Budget Officer

Revision No. 03